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Principles of Money and Banking

2005

(2 hours)

Section One:

Do Three Questions only (Total marks 60%)

1. Explain briefly how an endogenous emergence of money can result in the Clower Cash-in-Advance monetary economy.

2.  Derive Baumol’s square root formula for the transactions demand for money. What is the likely effect of an improvement in the technology of cash transmission? Comment on the implications of technological improvements in cash transmission on the demand for cash.

3. Write brief notes explaining what you understand by the following;

a) Outside money

b) Inside money

c) Intrinsic uselessness of money

4. What is the money multiplier? Critically evaluate the money multiplier as a theory of money supply determination.

5. Explain what you understand by the term liability management. Discuss the implications of liability management on the supply of money and the demand for money. 

6. What is the ‘Real Balance Effect’? How important is it for monetary policy? 

Section 2

Do one question only (40%)

7. What are the determinants of the demand for money? Does the demand for money have good microfoundations? 

8. Under what circumstances would an interest rate target be preferable to a money supply target?

9. a) A young person born at time t has preferences of consumption in period t when young {c1,t} and period t+1 when old {c2,t+1}. The utility function that describes preferences in both states is given by;
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The budget constraint in period t, when young is described by;
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Where 
[image: image2.wmf]M

 is the stock of money, P is the price level and y is the level of real income. The budget constraint when the young person becomes old in period t+1 is given by;
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Where ( is a decay factor and 0< ( < 1. Show that a monetary equilibrium is welfare superior to a non-monetary equilibrium. Why is a monetary equilibrium in an OLG set-up sometimes described as ‘tenuous’.

10. How conservative should a central bank be in its design of anti-inflationary monetary policy?

11 Does the fact that many central banks target the rate of inflation mean that the measurement and monitoring of the money supply is no longer relevant for monetary policy? Explain your answer.
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